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Structured Maths Aplproach Assessments

These assessments are a greaf way to pre or posf check the /earning that appears in each
chunk and lesson within the Iphase. These could be used in many ways to inform your

/essons, your start Inoim‘ and to see how the chunk of /earning has gone for your students.

Each lnhase assessment is sp/if into four chunks (fo match each chunk of /earning) with a
quesﬁon that can be matched back to each lesson. You will then be able to see what still

needs to be worked on or covered in your feaching time.

What comes before Do hes:numbars have:a olve these by multiplying by z mumbers.
these numbers: - ’2
Name:
7473 a8init ;.::
Write down the numbers counting forwards Whrite down the mumbe| | Solve these sums by counting on/counting back Solve these sums by u id these | | Solve these using addition ond subtraction steategies: Solve these using multiplication and division steategies:
nis st | [nios 32| [woosaa s 329 123+5= 256 -8 = 523+115= 10+ 210 = 27 x4 =
767 +9 = #3-5= 20 +119 = 499 4+ 66 3% 20 =
632+7 = 189-6= 432+ 3% = L 139+ 60 = Yy 1Y =
Order these from smolles o biggest: Solve the word problem: [ I had ws lollpops in my jor. I ate || Solve these sums by u Working oul spoc
P ‘ 367 +115 = 877 -85 - 81+ 3=
1687 5170 8943 111 E’ D _ D et
43 - 30 = 943 - 160 = o +5=
PPN
Compare these mumbers using < or « Decompose these numb g e Solue these using dhvision with no remoinders Find these fractons of a whole Draw on equivalent fract
1657= il |ICERE Rl Lo Sora- . &
3156 ss8 || 3t 7133 || M 4 5 7 3 5
8+2= 105+ 5=
i -6/ = 2 e 2 4 1
2270 6177 ’ 1080 y1g0 || 6813= SIE=G 7 Al T o G % T %
HHHHH| 75+ 3= 128+ 4=
Solue these times sable facts: ;oé« these sums ué:; reversing: 3 769 Solve these sums by ug | Soive these times table facts: Add these fra Order ihese fractions from smallest fo biggest:
5x3= 1X10 = 0x5= L =787 354130 || 5,5 6x8= 6| Lsl s &t 2, & B a2
2x2= Yx 4= 6x3= 12x2= 8xY= 60 3 ! 6 10
7x10 = x2= fxY4= 6x10= 1x3= 25
194-[]=32 177 -[ ]=58 4.2 2,2
Six 5= 6x5= 10x8= [l El 12x5= 1x10= 16 3 tg e 7t7
78 +139 =
Solue these sums using a fidy rumber: Solve these times fable facts
78+t = w-e8= 7x5= 6x2= B+ Y= 7+3
12x8= 8x3= 120+ 10 = Y0+8=
262+19= 604-99 = 876 +79 = Y21 - 299 = 6x5= 1xY= 3B +5= 0+3=
= = Y+ Y= N+ 2=
M4 3= 504-89= 12x10 3x4 0 M+2

Simln/g Inrim‘ of f the chunk you are /oo/eing to assess, comln/efe with students and then review

their answers.

You could comln/efe another check of the chunk assessment at the end of the time Period; or

simln/y that one lesson of quesﬁons again.



The Four Phases breakdown to Structured Maths Approach

Here is the comp/efe breakdown to Structured Maths Alnlnroach across the four phases and what each chunk will

cover with their lessons.

Four Phases to Structured Maths Approach

/
This phase is an introduction to Maths concepts and builds a solid foundation of number knowledge to ii}
20 and addition/ subtraction to ro. _
> :
[
l,
Phase Two @
This phase builds on the foundation in Phase One focusing on number knowledge to 1o and N[
addition/subtraction to 2. Fractions are introduced here. m
h £42
This ’Imsl fnr,u ahead ‘mildin, on Phase One and Two. Here we focus on number lnaw’d,. to 1,000
k and addition/subtraction to ioo. Mulﬂpli:aﬂon and division are introduced here.
I

3L

FNWS, BNWS, addton,

wvision, fractions

Phase 1 (Year o or New Enfran'l‘s)

Chunk |

Num bers I—10

Chunk 2
Add and subtract to s

Chunk 3

Numbers 11—20

Chunk
Add and subtract to 10

Phase 2 (Year 1)

Chunk |

Numbers 1~100

Chunk 2
Add and subtract to 20

Chunk 3
Add and subtract to 20

Chunk
/V\u/fip/icafion and division

Fractions Fractions
Phase 3 (Year z)
Chunk Chunk 2 Chunk 3 Chunk
Numbers I~1,000 Add and subtract to 100 Add and subtract to 100 Mu/ﬁp/icaﬁon and division
Fractions Fractions
Phase & ( Year 3)
Chunk Chunk 2 Chunk 3 Chunk

Num bers 1~10,000

Add and subtract to 1,000

Add and subtract to 1,000
Mu/ﬁp/icaﬁon and division

Add and subtract to 1,000
/V\u/filp/icafion and division

Fractions




Phase « (Year 3)

Chunk 1 Assessment

Name:

ﬁrm:

Year:
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What comes after

these numbers:

4,212

7173

Werite a number that has...

What comes before

these numbers:

al‘|inif

8,999

a 8init

6,405

6,234
7012
5413

DO fhese numbers have a

teen in it? Circle them:

9,818
4,212
8,277

Werite down the numbers coum‘ing forwards:

in1's: 3,214

in10's: 3,24

n100's:3,214

Werite down the numbers coum‘ing backwards:

in1's: 3,214

in10's: 3,214

in100's:3,214

1,687

Order these from smallest to biggesf:

5,170

8,943

1,111

5,890

Compare these numbers using <> or = Decompose these numbers: Comlnose these numbers:
3156 ssg |3 7133 1,657= 5000+/0+5=
2970 6127 || Y080 1180 6,843= 1000+600490+2=

Solve these times table facts:

Sl G = 1x10 = O0x5= 3x0 =
2% A= Hx Y= X 3= 12x 3 =
/%10 = Nx?2= NxHY= 5x 4=
5Xx D= bx5= 10x 8 = /x5 =




Phase « (Year 3) Name:
Chunk 2 Assessment Term:
Year‘:

Solve these sums by coum‘ing on/counﬁng back:

.SOIVZ fhese sums by using IDIGCZ va/ue:

123 +5 = 256 - 8 = 523 + 115 = 954 - 123 =
/ol +9 = Hi8 - 5= 260 + 119 = /9 - 215 =
632+ 7/ = 189 - 6 = 432 + 347 = 265 - 124 =
Solve the word prob/em: I had 3a3 /o”iFops in my jar. I ate Solve these sums by using a number line:
oA | 369 4115 =
B 436 - 38 =
Working out space:
& ) /M5 + 237 =
516 - 67 =

I S A N I

T

Solve these sums using reversing:

23+ =89 623 +| |=789
194-| |=32 177 -| |=58
Solve these sums using a tidy number:

278 + 41 = 277 - 68 =

267 +19 = 04 - 99 =

3+ 39= 504 - 89 =

.SO/VC fhese sums by MSiVlg an a/gorifhm:

345+ 132 = 887 - 231 =
2/8 + 139 = 4 - 387 =
876 + 79 = H21 - 799 =




Phase « (Year 3) Name:
Chunk 3 Assessment Term:
Year‘:

Solve these blj mu/ﬁln/cjing bg I number:

Y4x 7=

55K S =

clx5=

Solve these bcj mu/filn/'jing by 2 numbers:

28 x M=

39 x H =

90 %10 =

Solue fhe Wor‘d Pr‘ob/em: s birds could fit in a bush. There

were I4 bMShGS. HOW many birds

were there?

X
1

/

Solve these using division with no remainders:

Add these using addition or subtraction sfrafegy you know:

/-5 =

785 — 144 =
/58 + 1727 =
623 +198 =

237 + 89 =

I AN

T T
ﬂ\/orking out space:

28+ 7= 105+ 5=

75 + 3= 8 +4= |\L _/
Solve these times table facts:

f o= 6x8= 16+ 7= 80 + 10 =
12x72 = 8x 4= 60 + 10 = H + 5=
6x10 = Ixe= B+ 5= 18+ 3=
2% 5 = 11x10 = 16 +H4= M+ 8=




Phase « (Year 3) Name:
Chunk « Assessment Term:
Year‘.’

191 Fapsauag sayy

Solve these using addition and subtraction sfrafegies:

210 + 210 =

499 + 66 =

139 + 60 =

8// — 85 =

M3 - 180 =

Solve these using mu/fip/icaﬁon and division sfrafegies:

727 x Y=

3x 720 =

Mx1H=

8l = 3=

H=5=

Find these fractions of a whole:

Draw an equiva/enf fraction:

1 ) 3 1 3
= of 5= < of 36 = 1 % : %
2 , i 4 1
o 1= £ of 3= . % .3 %
Add these fractions: Order these fractions from smallest to biggesf:
i 1 © 1
ML 2L . 1 3 7
gt g = g tg -~ 3 T < 0
.2 2 2
RN 7 Y7 <
Solve these times table facts:
NS = bx 2= 28 + 4= 2] + 3=
12x 8 = Bx &= 120 = 10 = 4 = 8 =
bx5= UaHe= 30 D= 0+ 3=
12 x 10 = 3 Y= 0+ Y= M= 7=




